B30/ WEFGE LB HREFHEAS

Fr2546 4 16 H (H)

FA T VT AT AR S AR bR R

# B 14z 2ff 3fL 4f7 5L 6L Az 8L
100m B AR Hadr 14.12 |7FHA RERBEH 14.67 /MR % 14.81 |EH 1k 14.92 | = #hk 15.04 |/NBF fdEK 15.09 |7hvbk #E8 15.12 [fh . A8 15.15
7 7 V7 AAC +0.0 |[F7V7 AAC +0.0 | KERE /77 +0.0 |FFTIVIAAC +0.0 | KEREE/77 +0.0 | KEREE/77 +0.0 |[ZV—AZ AL +0.0 | KEREE/77 +0.1
1000m |/h#k #R% 3.05.83|#RM 3ak5 3.06.03[UTfE KA 3.21.57[FEWH K& 3.30.62|kk £ 3.31.38(7 4 hBE 3.35.82| A MK 3.38.90|FEA EBE 3.40.78
= KERE Fy77 250 | REEE 77 50 | KEE 57 KEE /57 FE7 V7 AAC TY—RF AV KEWE 157 H
4X100m|FE7V72AAC A 56.38 | KERE F757°A 59.46 | KERE F757'B 1.00.13|FE7V7AAC B 1.02.26(7V—2% AL 1.03.99|f7A7AAC C  1.05.18|FZEACY 2=7A 1.05.72|Fid 24 1.10.02
AW Ay AR T W KA Ry % AR AKX /Nl B SE N NI e 23}
B A FFREA VAN N 7t I A A A INBR HRES ST (S P 2R EA BE
RS AR NS N £l Bk F s Foe M B JIE B4 FAUE fg g D
AR G fh b = Bk e = YA WA JIg FHik =3 R ANl B
El EmEBk | Hk 419 |#p=uE A 412 [N fEA 41 | ZEk 3.7 |ER Bk 3.64 |HEA 1 3.47 &I flik 3.41 |ff B 3.41
BTNV AAC +1.3  |FETAT AAC +1.4 | KEFEEIF7 +0.7 |HZEACY 227 +0.7 | KEREE/T7 +1.8 BTV ZAC +0.1 |FETAV7 AAC +1.5 | KERME /77 +1.4
100m |¥ER oA 14.56 |HE HWH 14.77 |fRHE BT 15.31 [$nAK BEE 15.34 |{%F 70 15.37 | #5 )Y 15.46 |7TH 2K 15.49 |HrH Tk 15.55
/N KERE 7570 -0.1 |7V 2AC -0.3 | KEEE /77 -0.7 |FF2 -0.3 | KEEE /77" -0.1 |ZU—RZAV  -0.7 | KEEEEF/77 -0.7 |FETV7AAC -0.3
800m |4HL JiRtAr  2.37.90 [{WHF b7e 243 11 MM B 2.43.86|FJFEEIE  2.44.90|MEJF AP 2.52.71|8RE (HFR 2.54.09|FME T 2.55.48|FE 3 2.55.94
o FTAV7AAC T IKIEEE F277 KEpE £r77" KEpE £r77" TY—AEAN R KEpE 177" TY—AZAN
T 14X 100m|KkEEE E/57°A 59.54 |k A 1.01.91|mE7A72AC A 1.02.63|7V—2%A/L  1.03.91|KEM E/57B 1.04.63| 51K E/57°  1.05.09|f7AV7 ZAC C 1.07.17|F2EACY 2=7A 1.10.13
RE BT SR Aok HE & L E I B3R B Y Wi B EH #T
£ W B2 R B3 +E Hn BRI A3 Y 3K L7 TR -2 s = FH YRk
VI B~ 4B AR AR =% B e KR Kop xH I ABRE +E P HiA R0
IR DxDi /NIRRT 2B R oG w5 Y AE T IR LHA L% Fufk i BB
+ | AR | LR Hn 417 (AT RAE 3.57 |thig WY 3.45 |WEm HE 3.4 |FER AP 3.37 | K#p %£H 3.27 (M 1HER 3.2 |=#F B 3.19
BITV7 ZAC +2.2 | EIF7 +0.5 |ZU—2RZA 0.1 | KEFELEIFTT +1.4 |[ZV—=RZAV  +0.4 | KEREEIFTT  +0.0 |HFFZR +1.5 |FETV7 RAAC +1.5




BB30/5] BEkE [t B FHEAS

YR 2546 A 16 H (RH)

B 7V 7 AT O A B

® H 17 2L 3pL AfT 5L 6L ThL 8T
100m |EH & 12.37 |3 W 12.5 |JUFNMEESE  12.54 | Ik BK 12.67 |HR KHR 13.11 [k B B= 13.32 |75 B hlt 13.33
T -0.5 |EfE -0.5 |[KEZY -0.5 |EfES -0.5 |EfES -0.5 |HATEAR -0.5 |[KEZY -0.5
800m [FEA EA  2.18.83|MA fEEE  2.20.58| A7 UM 2.23.01|Z%H W 2.29.81|EHREZI 2.38.23|8K% |E 2.42.23
KEE 777 FREH Bk PR FA e FA e
F 3000m [#E K 09.58.83'Em A ML 10.53.53 AR KEk 11.14.67u0EE EBRA 11.20.59
KIE2 KEY FH 5 1 A
2 4 X 100m|/\ 47.72 (HiEH A 47.94 |FHHEH C 48.72 |FHEH A 50.15 |HifEH B 50.45 | A EH B 55  |[fHJE 55.44 |HifEH C 58.52
B SR P& AR Mg ot BH A K BH & /N HEHE R LR IESEINC-WN
HA KA TS EIU RN W OEK AL R VNN VSN =ys g B
B R g I R W OER R FHE K B fRE LSRN AN Fns
S A BR A Al Nk T fE] g FH2 N GEEES Vel ok
ENEEE JIFHEEE 549 KL B 4.84 |J6H HE 4.83 |/l RoF 181 (2B M 471 |FAEF B 4.61 [HE Kk 4.34 |KEHL FEAR 4.34
il KEY A o SR SR LR K[ o
fid fLPe |2 B 8.90 |)Illg mHEEE 8.90 |JI{E 8.03
(5.0Kg) |FERHH i il
BEbk (BE 6 2.90
T
100m |E&)IMERE  13.88 [F'E ERBE 13.9 (P #ERL 13.92 AT 13.96 [/VEILARSE 1444 |HPR A 14.75 @G B3 14.76 [HE ZFEK 14.82
PRI -1.8 [HATER -1.8 | KEpEE/77° -1.8 [ -1.8 |EfE -1.8 |#sH -1.8 |#JsH -1.8 | EfEd -1.8
800m |/Mk EFn 2.37.64 |WEEE & 2.37.99 |1/ 8F R4S 2.40.32|3% A 2.40.48[E)I1 FERE 2.43.24|F)R FEIE 2.46.68|TIA 57 2.52.05|FEBEA . 2.54.65
h KEE /57 K Fr57° F 75 o KEE /57 PR A ERlih F g5
A X100m|EEH A 51.87 |Efkir 52.3 [#EHF A 54.02 M+ B 54.49 |#HEH A 55.22 |HifEH C 55.34 [J\H 56.37 |#FH B 58.37
- KA A FA BA i B3 A B B EAL Y LN iR/ NI RS
S HE T JEH A BRI R I W Ll sk Jligs HLZs A IrTps KB Zsk
BRI UTiE B HRy A EST 352 WAR e FEBR BDER AFF A B opHx
I PRI =) BT VYRS H A S B A )AL WH EZi = mE R IR (R HES
Mgk (=1 W 4.94 |WNE BR 4.89 |10 #f 4.41 [HE & 3.79
FREH +0.7 | HRTEA +0.3 | KERE E/77° +0.4 [FAFEA +0.8
+ | bk [k & 1.35 |KEF Z3k 1.30
FAEF PR
fad (AR T 9.72 8K BT 9.16 |HR B 8.92 |AfRHE/  8.08 |[AF XK 6.84 |FEfBHkAE  6.51
(2.72Kg) |HifzH i H TR i TR




ZE30[5] W E B FHEASL TR25464 16 F (H)
BT A S AT RS A REE L

= B 1AL 2L 3fL 40 50L 6L Liva 8z
100m YA su 11.56 |HiE FHi 11.6 |G b 11.64 |#rE Fois 11.68 |JE#H PEF 11.79 (48 #r 12.05| F ) 1 E B 12.35
NIE S IPN +0.0  [IIFLRY: +0.0  [IIFLK: +0.0  [IIBLERT +0.0  [IIFLK: +0.0 |EER +0.0  |EER +0.0
400m KE 51.44 |FEF] BF 52.9 |0 4E 55.87 |4 HL Hr 57.59 |DHiE Jhith 1.02.68 |f&% —#f 1.04.31 [ A+ 1.05.53
ILIBLR HA T - A T 2 17 ELEE = LR = ELEE = ELEE = ELEE =
1500m  |7EHE A 4.12.75 |5 BE 4.13.06 |JF FA 4.17.12 |G & 4.21.76 |75k LA 4.25.01 [/1NBF flith 4.26.29 [RER HUik 4.34.09 [0k HiEk 4.46.25
NENE M7 AC M7 AC SN EXe X FRF 3R 7 AC
5000m |¥A #CK 16.46.68 |4 A & 16.48.87| Nk 14T 16.52.63|Frd: Bk 17.17.52
= & SN ELEE = ELEE =
AENERE Wi 703 |FfE 6.62 |EI FEHL 5.85 |HR W 5.75 |l EsE 5.43 | At 5.19 |[femp —f 5.09
IIE NS +1.0 | LELRA: +1.0 | LELRA: +1.3  |EER +0.6 |EEER +0.6 |EEER +2.0  |EEES +0.7
Emmpk  |[HEE R 160
il IWELRKAC
3= S 3.50 |pemp d2gm 2.80
ELEE e ELEE =
e [ sak 9.63 | i 9.19 |5 flK 7.60
(7.26Kg) |EEEH e FEE
100m B R 13.32 R HAE 13.72 |F5HE 720 13.75 |JHE EiL 13.83 |21l &3 13.98 [%H Ak 14.07 [#EN 1 14.19 [y B3E 14.32
ELEE = -0.1 [IIFLRA: -0.8 |EERE -0.1 |FER -0.8 |EER -0.1 |(EEH -0.1 |HER -0.1 |EER -0.8
800m fif) fof 2 2.30.30 =3k A4 2.36.98 (A FfE 2.44.22 [{THF4 24 2.59.02
FA7 V7 ZAC EEE & B B
3000m | AR 11.11.86 Bkl Ak 12.13.83
(B0FLLE) |EER ELEE =
4X100m |EEEE A 53.09 |EEEmE B 53.26
Bl = i #ETH
HiE 7205 Bl B%
Sem wAE IOESN=ES
Bprph PR R B
AENEEE R 4.37 e B2 4.25 |45 e 4.21 | BE 4.16




AEE—HR

BE30[5] BEFEE LHTEFEAS Frk2546 4 16 A (B)
BT VT AR AR RE EREE
% H 1z 241 3hr 4hL 54T 6L Hhe 8fit
100m |14 3H] 12.23
— LFlzs—2" -0.8
+ | 1500m |AfR i 4.39.41
£4 Kl Fy57
f 5000m |Afr &—  18.00.66
Kk 777
100m [#E)II fH = 12.9
m FITNVT"2AC -0.8
+ | 1500m [{[% Se—  4.44.50 |4 B 4.46.79
£4 R FET V7 A
f 5000m [4H Hic  18.45.95|fE¥F IEFH 19.08.43
FIT VT ARER, ATV ARER,
AmEEk [F)1 5.04
T V7 AAC
100m |8 E= 16.48
FA7 V7 AAC -0.8
1500m
e 5000m |42 Hw =R 21.24.92
—+ m7 V7 R,
4| iRk [ o 456 |0EE E 4.26
f TV ARER  +0.0 | KEREE/FT +0.1
bk [ s 1.25
KEFE 77
TaALEE |nE T 9.68
(4Kg) |KEFELIT7




/NEB T 100mREF o o /NEB T 1000mkEF IR T AX 100mk;
FABL—2) AFATEMEBE R FABL—2) (g i —2)

JIERT | No K4 AR P gk | JERZ] No K4 A Hg, ofk RN | MER No| K& [74 P& JERE No [Pl - K44 %
1] 280[% z@s Fiidi | 6 |7 V7 AAC 14.12 1 277 {hink 6 |F7A7AAC [ 4.19 [+0.9 1 20k $%k| 6 [-757°]3.05.83 1| 14 M7V7°2ZAC A | 56.38
2] 254]9nA AW 6 [H "AAC 14.67 2| 280[UF E M Fid | 6 |FE/AVTAAC | 412 [+1.4 2| 17]FkM 5| 6 [-757°13.06.03 280 Ep = Hidr
3] 20] 6 [ KEFEE/77 | 1481 3] [P fEK 6 | K[ERE -777°] 4.10 [+0.7 3| 25Uk KA 6 [-797°]3.21.57 254 A CREARHA
4| 277|k 6 |7 V7 AAC 14.92 4] 39wl ZRaEk 6 |HFEACY 2=7] 3.70 [+0.7 4] 1815 K| 6 [ K [-757°]3.30.62 277 WS hRK
5 6 5 |REEE/77 [ 15.04 5|  elwm pEk 5 | KEkEE/F7] 3.64 [+1.8 5| 298| AFky £ 6 |[F7v7AAC _|3.31.38 259 fEA i
6] 3 6 [ 15.09 6] 259[HEA ff 5 [FE7AV7AAC | 3.47 [+0.1 6] 53[7 (vl EE| 4 [F)—AZ 1)1 [3.35.82 2| 15 KERE F777°A] 59.46
7] 56 6 15.12 7| 12[ &I iR 5 [ KERE /577 3.41 [+1.5 7] 4w A 2 [KERE F7777]3.38.90 17 R 5%

8 11 5 15.15 8l 1i[fhE AE 5 3.41 [+1.4 8| 125[F A RGN 3.40.78 20 /BR HEER
9] 25[y 6 15.23 9l 7l %k BN 3.36 [+0.3 9] 39]wE Il 6 |FIFEACY 2=7]3.40.89 3 /NEF K
0] 17 6 15.30 10] 125[FEK FiF 3 |t 3.26 [+1.5 | | 10] 292])1Tik; ¥ 4 |FA7NV7AAC [3.41.53 1L ffE A
11] 281 5 15.34 11] 263/t F % 4 [F7VTAAC [3.95 [+1.4 | [ 11] B7[HR 6 |7)—AZ )L [3.44.33 3| 16 KXEFE /77°B[1.00.13
12] 259 5 15.54 12 14]HESF {Ff 5 [ K[ERE F577] 3.23 [+1.4 | | 12] 258] Nk & 5 [F7V7AAC |3.46.73 25 WTiE KT
13 12 5 15.56 13] 291 [ Fok 5 [FE7AV7 ZAAC | 3.22 [+1.2 13] 266| & 4 [M7V7°AAC  [3.50.99 12 d)1 flizk
4] 39 6 15.67 14] 53|74y | 4 [ZV—2F (1 |3.21 [+1.4 | [ 14] 38[FiA 4 [HIZEACY 2=7[3.51.55 7T A
15 7 6 [R5 | 15.76 15 262|178 HEA 4 |FE7AV7AAC  [3.06 [+0.2 | [ 15] 42]/k 6 [HI#EACY 2=7]3.52.60 6 I kR
16] 262 4 |F7 VT AAC 15.77 16 23[mil Wi 3 | K[EpE Er77°] 3.01 [+0.9 | [ 16] 271[®F 00 6 |77 2AC [3.56.98 4] 31 r‘ﬁ?w XACH 1.02.26
17] 299[> 6 |rE7 M7 AAC 16.08 17| 281[11H A 5 |mE7A7"AAC | 2.97 [+0.8 17] 295|350 6 |77 2AC _[3.57.58 298 AP £
18] 295[7; 6 |m7A72AC 16.21 18] 40[HsiE fEAT 6 [HFEACY 2=7] 2.90 [+1.3 | [ 18] 60[ifiK 1 6 |7)—A%A/L [3.58.25 290 H1iA L=£}\
19] 291 5 [FE7AV7AAC 16.29 19 38[HHA A 4 [WEACY a=7] 2.82 [+0.7 | [ 19] 551 [kE 1% 5 [FJIkE /5773.59.35 291 HJRE Fokg
20] 125 3[R 16.31 20| 124[#R¥E FEE 3 |TPAfE 2.78 [+1.0 | | 20] 41][—=JF 6 [HIFEACY 2=7]4.01.42 276 i 7=
21| 276 5 |77 AAC 16.38 21] 271 @JD 8 HL 6 |FTA7AAC | 2.78 [+2.5 | | 21| 255|787 JefE] 4 [FE7A7AAC  [4.03.81 5[ 23 7U—A&A/L [1.03.99
22] 23 3 | KEME 257 [ 16.49 22 3 6 [MFEACY a=7] 2.78 [+1.6 | [ 22] 59[FF HH 6 [7V—=& A\ [4.04.15 57 4TIk K
23] 263 4 |F7 VT AAC 16.58 23 3 [ K[EpE Er777] 2.76 [+0.7 | | 23] 262]J117E 4 [FE7V7AAC [4.05.74 56 /bR R
24] 42 6 [HZEACY 2=7 | 16.62 24 2 | K[EPE 175771 2.75 [+1.4 | [ 24] 120[ 76 5 F] 4 [PAFEA 4.07.44 55 #JE i
25 41— 6 [HFEACYa=7 | 16.82 25 3 [m7A72AC [ 2.74 [+0.8 | [ 25] 251 [Hbkf 1% 3 [FA7V7AAC 4.07.44 54 SH
26]  54]¢ 5 [7)—=& A1 16.85 26 2 | K[EPE 75771 2.55 [+0.2 | [ 26] 40[#~0E 6 [ v'2=7]4.08.78 6] 25 M7AV7AAC C [1.05.18
27] 298 6 [FE7 V7 AAC 16.87 27 PEEESE 2.50 [+0.0 | [ 27] 35[Ht& 3 | v 2=7]4.22.25 263 /L RS
28] 258 5 |m7A7ZAC 16.88 28 3 |[F7A72AC [ 2.46 [+0.6 | [ 28] 33[5FR 2 |H v'2=7]4.33.48 255 {RI% JTHE
29[ 290 6 |mi7A72AC 17.03 29 3 |[m7A72AC [ 2.38 [+0.0 | [ 29] 36]JKk 3 [HFEACY 2=7]4.35.04 262 JII7E HEZE
30 38 4 [HEEACY =7 [ 17.07 30 6 [HIEEACY 2=7] 2.36 [+0.9 | [ 30] 268[J ET 4 [F7V7"2AC [4.35.81 294 )1y Pk
31| 294 5 [FE7AV7AAC 17.10 31 6 [Fa VT 2AC_| 2.34 [f1.1} | 31] 30 g PRET V'2=7(4.44.93 7| 17 FZEACY 2=7A1.05.72
32] 4 2 | KEMEEIF7 | 17.32 32 2 32| 34[iSe 3 [H 714.47.78 42 JFRHER
33| 14]JF 5 | KEME 277 [ 17.36 33 3 33 31[EfE PRED 714.56.44 39 PHIL ARk
34] 300 3 M7V 2AC 17.42 34 2 40 FRU5 I
35] 124 3 | AT 17.51 35 3 41
36] 40 6 |F#EACY/ 2=7 | 17.59 36 3 . 8] 13 1.10.02
37] 251 3 |m7A72AC 17.61 37 3 B . .2 120
38[ 292 4 _|m7ATAAC 17.67 38 A7V ZAC | 1.70 [+0.7 125
39] 551 5 [HJIlkE Es77" | 17.68 39 2 [HEEACY =7 1.45 [+0.7 131 &
40] 266 4 |f7V7AAC 17.69 40 PR EESE skl 132
411 15[JEEF 2 | KMEPE 77| 18.12 9] 26 1.12.67
42] 261]7 3 [FE7AV7AAC 18.13 43 /R BLER
431 120[7E T 18.17 38 H5A AF0
44| 35[¢ 3 [H#EACYa=7 | 18.19 34 EEA R
45]  36[ KUK 4% 3 |[HFEACY 2=7 | 18.37 35 A fH
46] 51 3 | TV—RZA) 18.40
47| 255[ L 4 _|m7ATAAC 18.74
48[ 33[~r= 2 |F#EACY 2=7 | 18.94
49 16 2 | KEFE /77 [ 19.04
50[ 268[ ki 4 _|m7ATAAC 19.10
51] 50 3 [ZV—=&41 | 19.34
52] 521 4 [Z)—=FA | _19.54
53] 132 PR 19.60
54]  34[7 3 [HFEACY 2=7 | 19.60
55 1314 PR 19.96
56| 37 HIJ?%%U%?}(EB 3 |1 v 20.33
57| 30[kAuE fEE 2 | 20.41
58] 31[fh diil 2 |F#EACY 2= | 20.77
59| 2743 fEE 2 |FE7 M7 AAC 21.51
NFEZFI0OMRRTF NERTFEEE RIF /NFZ F80OMIREE INFEEFA4X100m RF
(FALL—2R) (FLHL—2R) (FABL—2R)

JIERE | No K4 A P& gk | JERZ] No K4 S Hig, sogk JRJ) | AR No| K& [ P& sk | [JER]No | AT - K% [achk
1 10[HWR oA | 6 [ KEMELE/TT [ 14.56 1 292] FR Hv 6 |7V AAC | 4.17 [+2.2 1] 274|210 Jrad] 6 [7/72AC [2.37.90] [1 24 KIEFE E/77°Al59.54
2] 292| = H 6 |7 V7 AAC 14.77 2| 570|#:4] HLAR 6 | 5IpE 1-777°] 3.57 [+0.5 2| 8liEF $78 | 6 "]2.43.11 13 fRE 7
3] I3[{RH #iT 5 [ KMEBEE77 [ 15.31 3| 50[hiE Wiy 5 [Z)—=%11]3.45 [-0.1 3[ 13[fk 5 "[2.43.86 8 W e
4] 102[88AK B [ EEE 15.34 4] 1ilwE BE 5 [ KMEPE Es777] 3.40 [+1.4 4] 1aPIECEER] 5 [K[E "[2.44.90 12 W ¥xit
5 8l 72 6 | KMEpFE 77| 15.37 5| S1[ERE A 5 [ZV—2H AN | 3.37 [+0.4 5] 51[HEIE A 5 [7)— Xé’%/b 2.52.71 10 R DA
6] 50 #i)h 5 |[FV—AZA)L 15.46 6] 5| KEF ZH 5 | KMEREEr77'] 3.27 [+0.0 6] 108 Ff‘% iR | 5 [kl 2.54.09] (2 [25 rPARrE A 1.01.91
7 FIEERS 6 | KMEpFE 77 | 15.49 7| 108|fRE AiEE 5 [TPAfE 3.20 [+1.5 7] 1olEwE T 4 [ KERE 277725548 115 gk Ak
8| 279[HH Tk 5 |77 AAC 15.55 8| 254] = HifH 5 [FE7A7ZAC [3.19 [+1.5 8| 52| | 5 |7V—AZ A [2.55.94 102 gak FR3E
9l 12[WIFE Bx4E] 5 i 15.61 9| 12|¥ifE BExAE] 5 | KEEEE/T7] 3.13 [+1.5 ol olrm 3R] 6 [KEFEL/77(2.58.54 108 #i= HhFR
10] 5570 [#efT LA [ NI 15.73 10] 1o2]#Ak B [ EETER 3.12 [+0.9 | | 10 53]IH #%[ 6 [7U—AZ AL [2.59.28 103 /IiERk 1
1] 15| E&<5 3 | K[HE 16.17 11 103[/IVHIHERPE 7= | 6 [Hfffsi 3.10 [+0.5 [ | 11} 37[)7H vbfik| 6 |FHZEACY 2=7[3.02.00] [3 [22 M7A7AAC A]1.02.63
12] 103 |/NlEEpk 1 6 | A 16.20 12| LI3[FN'E B 4 | TR 3.01 [+0.7 ] [ 12] 264[kn Ak % 6 [FH7)V7AAC  [3.03.19 253 RE kA&

13] S A 5 [7)—2&A) | 16.28 13] 114[/ RS 4 [P 3.00 [+0.9 | [ 13] 36[Rm I 7| 6 [HZEACY 2=7[3.08.45 292 LR Ho

14]5572| @1l HHE 6 [HIpELr77" | 16.29 14 18/ A% 3 [ K[EPEEs777] 2.86 [+1.6 | [ 14] 113]Ff'%s Bhr | 4 [FAFE 3.10.62 254 =7 Hiff

15]  37|07H Wik 6 |HI#EACY 2=7 | 16.30 15 B2l &% 5 [7)—=&A)1 | 2.83 [+0.3 | | 15] 281|A iR Eme| 5 |FTA7AAC  [3.12.21 274 4 Jr R

16 18[/hvbk CU4% 3 | KMEpELr77 | 16.39 16 119[83A 2 3 | 2,77 [+1.9 [ | 16] 18]k %] 3 [ KMERKE [-/77°3.15.87 | [4 |23 ZU—=ZAL [1.03.91
17] 108|fs iFE Pl EEEE 16.41 17] 573/ LbA | 6 [HIIFE E277] 2.75 [+0.3 | [ 17] 38[HA EHn| 6 |HHEACY 2=7]3.17.11 54 frik I

18] 258[iL(% F4E 4_|F7 VT AAC 16.41 18] 291[mHr ¥R 4 ﬁf/w AC_To74lri6][ 18] 54 PepE HEE[ 5 [FU—=Z (/1 [3.18.30 51 % S

19] 254| =7 Hif 5 |7V AAC 16.46 191 37|77 ¥bEk 6 |k 2.74 [+1.3 | | 19 115[8aAR AK| 4 [dhrf#h 3.22.95 52 s

20 I [F7 VT 2AC 16.69 20 20|fHiE FUHIE] 3 )\IBEJ:777 2.73 [+0.4 | [ 20 35[f H/B| 5 [HIZEACY 2=7[3.37.51 50 Lle% Wy

21 4 |FETAVTAAC 16.78 21 36| KM #T 6 [HEACY a=7] 2.73 [+1.1 | [ 21] 40[=JF Ef:] 4 [WFEACY-=7[3.38.47] (5 [13 KEKEE/77B[1.04.63
22 5 [ KEPEFE/77 | 16.78 22| 293[3F I Hk{E 6 [Fa7 V7 AAC | 2.70 [+0.6 | [ 22[ 259 Hz e 4 [R7A72AC [3.40.14 14 FHFEHERRE

23 6 |H#AC 2=7 | 16.82 23| 253X HEFE 6 |[F/V7AAC | 2.57 [+1.6 9 FTHE ZEK

24 6 [FE7V7AAC 16.87 24| 263|450 HHE| 2 [FEITAVIAAC | 2.55 [+0.2 5 KB KH

25 T EEED 16.89 25| 285|590F £ 4 |7V AAC | 2.55 [+0.6 19 HM T

26 5 [ KEPEF/F7 | 17.25 26 38| TNA ¥ 6 [HFEACY 2=7] 2.52 [+0.8 6 [26 HUJIIEE /77 [1.05.09
27 4 [F7VTAAC 17.39 27| 290 £/# W 4 |F7V72AC | 2.51 [+0.8 572 &L HIE

28 3 |[HPAfEA 17.45 28| 35|k Gukx 5 |HIZEACY 2=7] 2.33 [+0.7 570 W4T SLAR

29 4 |F7 VT AAC 17.47 29[ 265 A 3[BTV AAC | 2.32 [+0.6 571 %dF &4

30 4 |HT VT AAC 17.48 30[ 53 6 |7)—AZ AN | 2.27 [+0.2 573 /M LbA

31| 115]8pAk Ak GRS 17.49 31[ 298 3 |M7A7ZAC | 2.23 [+0.3 7 |16 m7AV7AAC C[1.07.17
32| 114[/MigE< 4 |PARER 17.54 32] 259 4 |FETA7AAC | 2.18 [+1.0 285 FiE it

33 1i[wEE EE 5 [ KEPEE/F7 | 17.56 33] 267 2 [F7V72AC | 2.15 [+0.0 259 =4k kg

34| 285[75HE K 4 |HT VT AAC 17.64 34 33 4 |[H#EACY 2=7] 2.08 [+0.3 290 L& WLy

35| 38[HA RN 6 |HZEACY 2=T | 17.65 35] 283 2 |E7A72AC  [1.92 [+0.0 258 JL{% Fndk

36] 284[/NER 1% 4_[B7VTAAC 17.75 36| 269 1 =mv7 xl\c 1.90 [-0.3 8 |27 HZEACY2=TA[1.07.28
37| 54|fiE EE 5 [7)—=&40 | 17.78 37] 31 4 1.80 [+0.2 36 KM FET
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